

SUBJECT: MATHEMATICS

**PAPER: ADVANCED MATHEMATICAL
METHODS**

PAPER CODE:H 3051(PAPER III)

CLASS: MSc III SEMESTER

TAUGHT BY:DR SATISH KUMAR

**ASSOCIATE PROFESSOR
DN COLLEGE MEERUT**

① Solve the integral equation

$$\phi(x) = e^x + \lambda \int_0^1 K(x, \xi) \phi(\xi) d\xi$$

$$\text{where } K(x, \xi) = \begin{cases} \frac{-\sinh x \sinh(\xi-1)}{-\sinh 1}, & 0 \leq x \leq \xi \\ \frac{-\sinh \xi \sinh(x-1)}{-\sinh 1}, & \xi \leq x \leq 1 \end{cases}$$

Solution: The given integral eqn is

$$\phi(x) = e^x + \lambda \int_0^1 K(x, \xi) \phi(\xi) d\xi \quad \text{--- (1)}$$

$$\text{where } K(x, \xi) = \begin{cases} \frac{-\sinh x \sinh(\xi-1)}{-\sinh 1}, & 0 \leq x \leq \xi \\ \frac{-\sinh \xi \sinh(x-1)}{-\sinh 1}, & \xi \leq x \leq 1 \end{cases}$$

The homogeneous integral Equation of ① can be written as

$$\phi(x) = \lambda \int_0^x K(x, \xi) \phi(\xi) d\xi + \lambda \int_x^1 K(x, \xi) \phi(\xi) d\xi$$

$$\phi(x) = \lambda \int_0^x \frac{-\sinh \xi \sinh(x-1)}{-\sinh 1} \phi(\xi) d\xi + \lambda \int_x^1 \frac{-\sinh x \sinh(\xi-1)}{-\sinh 1} \phi(\xi) d\xi \quad \text{--- (2)}$$

Differentiating with respect to x , we have

$$\phi'(x) = \int_0^x \frac{\partial}{\partial x} \left\{ \frac{-\sinh \xi \sinh(x-1)}{-\sinh 1} \right\} \phi(\xi) d\xi$$

$$+ \lambda \int_x^1 \frac{\partial}{\partial x} \left\{ \frac{-\sinh x \sinh(\xi-1)}{-\sinh 1} \right\} \phi(\xi) d\xi$$

$$\Phi'(x) = \dots \frac{\lambda \cosh(x-1)}{\sinh 1} \int_0^x \sinh \xi \Phi(\xi) d\xi$$

$$+ \left\{ \frac{\sinh \xi \sinh(x-1)}{\sinh 1} \Phi(\xi) \right\}_{\xi=x} \frac{d}{dx} x - 0$$

$$+ \frac{\lambda \cosh x}{\sinh 1} \int_x^1 \sinh(\xi-1) \Phi(\xi) d\xi$$

$$+ \left\{ \frac{\sinh x \sinh(\xi-1)}{\sinh 1} \Phi(\xi) \right\}_{\xi=1} \frac{d}{dx} 1$$

$$- \left\{ \frac{\sinh x \sinh(\xi-1)}{\sinh 1} \Phi(\xi) \right\}_{\xi=x} \frac{d}{dx} x$$

$$\Phi'(x) = \dots \frac{\lambda \cosh(x-1)}{\sinh 1} \int_0^x \sinh \xi \Phi(\xi) d\xi$$

$$+ \frac{\sinh x \sinh(x-1)}{\sinh 1} \Phi(x) + \frac{\lambda \cosh x}{\sinh 1} \int_x^1 \sinh(\xi-1) \Phi(\xi) d\xi$$

$$- \frac{\sinh x \sinh(x-1)}{\sinh 1} \Phi(x)$$

$$\Phi'(x) = \lambda \int_0^x \frac{\cosh(x-1)}{\sinh 1} \sinh \xi \Phi(\xi) d\xi$$

$$+ \lambda \int_x^1 \frac{\cosh x \sinh(\xi-1)}{\sinh 1} \Phi(\xi) d\xi \quad \text{--- (3)}$$

Q1-05, Pdt. $\frac{21}{02}$ (02) H-3051, Dr. Sahish Kumar

Again, differentiating, we have

$$\phi''(x) = \lambda \int_0^x \frac{\partial}{\partial x} \left\{ \frac{\cosh(x-1)}{\sinh 1} \sinh \xi \phi(\xi) \right\} d\xi$$

$$+ \lambda \int_x^1 \frac{\partial}{\partial x} \left\{ \frac{\cosh x \sinh(\xi-1)}{\sinh 1} \phi(\xi) \right\} d\xi$$

$$= \lambda \int_0^x \frac{\sinh(x-1)}{\sinh 1} \sinh \xi \phi(\xi) d\xi$$

$$+ \lambda \left\{ \frac{\cosh(x-1) \sinh \xi}{\sinh 1} \phi(\xi) \right\}_{\xi=x} \frac{dx}{dx} - 0$$

$$+ \lambda \int_x^1 \frac{\sinh x \sinh(\xi-1)}{\sinh 1} \phi(\xi) d\xi + 0 - \left\{ \lambda \frac{\cosh x \sinh(\xi-1)}{\sinh 1} \phi(\xi) \right\}_{\xi=x} \cdot 1$$

$$\phi''(x) = \left[\lambda \int_0^x \frac{\sinh(x-1) \sinh \xi \phi(\xi)}{\sinh 1} d\xi + \lambda \int_x^1 \frac{\sinh x \sinh(\xi-1)}{\sinh 1} \phi(\xi) d\xi \right]$$

$$+ \frac{\lambda \phi(x)}{\sinh 1} \left[\cosh(x-1) \sinh x - \cosh x \sinh(x-1) \right]$$

$$\phi''(x) = \phi(x) + \frac{\lambda \phi(x)}{\sinh 1} \sinh[x-(x-1)] \quad \left[\begin{aligned} &\sinh(A-B) = \frac{\sinh A \cosh B}{\cosh A \sinh B} \\ &\text{from (1)} \end{aligned} \right]$$

$$\Rightarrow \phi''(x) - (\lambda+1) \phi(x) = 0 \quad \text{--- (4)}$$

The conditions are

$$\left. \begin{aligned} \phi(0) &= 0 \\ \phi(1) &= 0 \end{aligned} \right\} \quad \text{--- (5)}$$

CH-05, Pdf - 21/03 (04) H-3051, Dr. Satish Kumar

Case I, If $\lambda + 1 = 0$, Equation (4) $\Rightarrow$

$$\phi''(x) = 0 \dots \text{ii}$$

$$\Rightarrow \phi'(x) = A \Rightarrow \phi(x) = Ax + B \quad \text{--- (6)}$$

$$\phi(0) = 0 \Rightarrow 0 = B$$

$$\phi(1) = 0 \Rightarrow 1 = A + B \Rightarrow A = 0 \quad [\because B = 0]$$

ii (6) $\Rightarrow$

$\phi(x) = 0$ which is not an eigen function for $\lambda + 1 = 0$ i.e. for $\lambda = -1$.

Case II, If $(\lambda + 1) > 0$, Equation (4) $\Rightarrow$

$$\phi''(x) - (\lambda + 1)\phi(x) = 0$$

$$\Rightarrow \text{A.E. is } m^2 - (\lambda + 1) = 0 \Rightarrow m = \pm \sqrt{\lambda + 1}$$

$$\text{ii } \phi(x) = A \cosh(\sqrt{\lambda + 1})x + B \sinh(\sqrt{\lambda + 1})x$$

$$\phi(0) = 0$$

$$\Rightarrow 0 = A$$

$$\phi(1) = 0 \Rightarrow$$

$$\phi(1) = A \cosh \sqrt{\lambda + 1} + B \sinh \sqrt{\lambda + 1}$$

$$\Rightarrow 0 = B \sinh \sqrt{\lambda + 1} \quad [\because A = 0]$$

$$\Rightarrow B = 0 \quad \text{as } \sinh \sqrt{\lambda + 1} \neq 0$$

ii $\phi(x) = 0$, which is not an eigen function

ii $(\lambda + 1) > 0$, is not an eigen value.

Case III, $(\lambda + 1) < 0$ let $\lambda + 1 = -\mu^2$ where $\mu > 0$

ii eqn (4) $\Rightarrow$

$$\phi'' - (-\mu^2)\phi = 0$$

$$\text{A.E. } m^2 + \mu^2 = 0 \Rightarrow m = \pm \mu i$$

Soln is

$$\phi(x) = A \cos \mu x + B \sin \mu x$$

--- (6)

CH-05, Pdf - 21/03 (5) H-3051, Dr. Sahsh Kumar

$$\phi(0) = 0 \Rightarrow A = 0$$

$$\phi(1) = 0 \Rightarrow A = B \sin u \Rightarrow \sin u = 0 \text{ if } B \neq 0$$

if $B = 1$ then

$$\left[\sin u = 0 = \sin n\pi \right] \Rightarrow u = n\pi$$

$$\phi(x) = \sin u x, \quad u = n\pi$$

i. Required eigen fn is

$$\phi(x) = \sin u x \text{ where } 1 + \lambda_n = -u^2$$

$$\boxed{\phi(x) = \sin n\pi x} \Rightarrow \lambda_n = -1 - u^2$$

$$\lambda_n = -1 - n^2\pi^2$$

$$\Rightarrow \lambda_n = -(1 + n^2\pi^2)$$

which is an eigen value,

$$\text{Now } \bar{\phi}_n(x) = \frac{\phi_n(x)}{\|\phi_n(x)\|} = \frac{\sin n\pi x}{\|\sin n\pi x\|}$$

$$\|\sin n\pi x\| = \sqrt{\int_0^1 \sin^2 n\pi x \, dx} = \sqrt{\int_0^1 \frac{1 - \cos 2n\pi x}{2} \, dx}$$

$$= \sqrt{\int_0^1 \frac{1}{2} \, dx} = \sqrt{\frac{1}{2}}$$

$$\text{ii } \bar{\phi}_n(x) = \sqrt{2} \cdot \sin n\pi x$$

$$F_n = \int_0^1 f(x) \cdot \bar{\phi}_n(x) \, dx = \int_0^1 e^x \cdot \sqrt{2} \sin n\pi x \, dx$$

$$= \sqrt{2} \cdot \left\{ \frac{e^x}{1+n^2\pi^2} \left[-\sin n\pi x - n\pi \cos n\pi x \right] \right\}_0^1$$

$$= \frac{\sqrt{2}}{1+n^2\pi^2} \left[e(0 - n\pi \cos n\pi) - (0 - n\pi) \right]$$

$$F_n = \frac{\sqrt{2}}{1+n^2\pi^2} \left[-n\pi e(-1)^n + n\pi \right]$$

i. Required soln is given by

$$\phi(x) = e^x + \sum_{n=1}^{\infty} \frac{\lambda}{\lambda_n - \lambda} F_n \bar{\phi}_n(x) \text{ for } \lambda \neq \lambda_n$$

$$\phi(x) = e^x + \sum_{n=1}^{\infty} \frac{\lambda}{-(1+n^2\pi^2) - \lambda} \cdot \frac{\sqrt{2}}{1+n^2\pi^2} \left[-n\pi e(-1)^n + n\pi \right]$$

$$\times \frac{\sin n\pi x}{1} \sqrt{2}$$

(2) Find the eigen value and eigen functions of The homogeneous integral equation

$$\phi(x) = \lambda \int_1^2 \left(x\xi + \frac{1}{x\xi} \right) \phi(\xi) d\xi$$

Solution. Given homogeneous eqn is

$$\phi(x) = \lambda \int_1^2 \left(x\xi + \frac{1}{x\xi} \right) \phi(\xi) d\xi \quad \text{--- (1)}$$

$$\phi(x) = \lambda x c_1 + \frac{\lambda}{x} c_2 \quad \text{--- (2)}$$

where

$$c_1 = \int_1^2 \xi \phi(\xi) d\xi \quad \text{--- (3)}$$

$$c_2 = \int_1^2 \frac{1}{\xi} \phi(\xi) d\xi \quad \text{--- (4)}$$

From (2),

$$\phi(\xi) = \lambda c_1 \xi + \lambda c_2 \cdot \frac{1}{\xi} \quad \text{--- (5)}$$

From (3) & (5)

$$c_1 = \int_1^2 \xi \left[\lambda c_1 \xi + \lambda c_2 \cdot \frac{1}{\xi} \right] d\xi$$

$$c_1 = \frac{\lambda c_1}{3} (\xi^3)_1^2 + \lambda c_2 [\xi]_1^2 = \frac{\lambda c_1}{3} (7) + \lambda c_2 [1]$$

$$\Rightarrow \left(1 - \frac{7\lambda}{3}\right) c_1 - \lambda c_2 = 0 \quad \text{--- (6)}$$

From (4) and (5)

$$c_2 = \int_1^2 \frac{1}{\xi} \left[\lambda c_1 \xi + \lambda c_2 \cdot \frac{1}{\xi} \right] d\xi$$

$$= \lambda c_1 [\xi]_1^2 + \lambda c_2 \left[-\frac{1}{\xi} \right]_1^2$$

$$c_2 = \lambda c_1 - \lambda c_2 \left[\frac{1}{2} - 1 \right]$$

$$\Rightarrow -\lambda c_1 + \left(1 - \frac{\lambda}{2}\right) c_2 = 0 \quad \text{--- (7)}$$

The D.C. for (6) & (7) is

$$\int \frac{1}{x^2} = \frac{x^{-2+1}}{-2+1}$$

$$D(\lambda) = \begin{vmatrix} 1 - \frac{7}{3}\lambda & -\lambda \\ -\lambda & 1 - \frac{1}{2}\lambda \end{vmatrix} = (1 - \frac{7}{3}\lambda)(1 - \frac{1}{2}\lambda) - \lambda^2$$

$$= 1 - \frac{7}{3}\lambda - \frac{1}{2}\lambda + \frac{7}{3} \cdot \frac{1}{2} \lambda^2 - \lambda^2$$

To find eigen values, put $D(\lambda) = 0 = \frac{6 - 14\lambda - 3\lambda + 7\lambda^2 - 6\lambda^2}{6}$

$$= \left(\frac{\lambda^2 - 17\lambda + 6}{6} \right)$$

ii $\lambda^2 - 17\lambda + 6 = 0$

$$\lambda = \frac{+17 \pm \sqrt{17^2 - 4 \times 6}}{2}$$

Taking positive sign, $\lambda_1 = 16.639$ (approximately)

Taking negative sign, $\lambda_2 = 0.3606$ (approximately)

To find eigen function corresponding to $\lambda_1 = 16.639$

We have

$$(1 - \frac{7}{3}\lambda_1)c_1 - \lambda_1 c_2 = 0$$

$$- \lambda_1 c_1 + (1 - \frac{1}{2}\lambda_1)c_2 = 0$$

put $\lambda_1 = 16.639$

$$(1 - \frac{7}{3} \times 16.639)c_1 - 16.639 c_2 = 0$$

$$(1 - 38.824)c_1 = 16.639 c_2$$

$$\Rightarrow c_2 = \frac{1 - 38.824}{16.639} c_1$$

putting the value of c_2 in

$$\phi(x) = \lambda_1 \left[c_1 x + \frac{c_2}{x} \right]$$

$$\Rightarrow \phi_1(x) = \lambda_1 \left[c_1 x + \frac{1}{x} \cdot \frac{1 - 38.824}{16.639} c_1 \right]$$

$$\phi_1(x) = \lambda_1 c_1 \left[x - 2.2732 \cdot \frac{1}{x} \right]$$

$$\Rightarrow \phi_1(x) = (x - 2.2732 \cdot \frac{1}{x}) \text{ if } \lambda_1 c_1 = 1$$

which is required eigen fn corresponding to $\lambda_1 = 16.639$.

CH-05, Pdf - $\frac{21}{03}$ (08) H-3051, Dr. Sahish Kumar

To find eigen function corresponding to eigen value

$$\lambda_2 = 0.3606$$

We have

$$(1 - \frac{7}{3} \lambda_2) c_1 - \lambda_2 c_2 = 0$$

$$- \lambda_2 c_1 + (1 - \frac{\lambda_2}{2}) c_2 = 0$$

$$\text{put } \lambda_2 = 0.3606$$

$$(1 - \frac{7}{3} \cdot 0.3606) c_1 - 0.3606 c_2$$

$$\Rightarrow c_1 = \frac{0.3606}{1 - \frac{7}{3}(0.3606)} c_2$$

$$\Rightarrow c_1 = \frac{0.3606}{1 - 0.8414} c_2$$

$$\Rightarrow c_1 = \frac{0.3606}{0.1586} c_2$$

$$\Rightarrow c_1 = 2.2736 c_2$$

$$ii) \quad \phi(x) = \lambda_2 \left[c_1 x + \frac{c_2}{x} \right]$$

$$= \lambda_2 \left[x \cdot 2.2736 c_2 + \frac{c_2}{x} \right]$$

$$\phi(x) = 2.2736 \lambda_2 c_2 \left[x + \frac{1}{2.2736} \cdot \frac{1}{x} \right]$$

$$\Rightarrow \boxed{\phi_2(x) = x - 0.4398 \cdot \frac{1}{x}} \quad \text{if } 2.2736 \lambda_2 c_2 = 1$$

which is required eigen function

corresponding to the eigen value $\lambda_2 = 0.3606$.

(3) Find the eigen values and eigen function of

$$\phi(x) = \lambda \int_0^{\pi} K(x, \xi) \phi(\xi) d\xi \quad \text{where}$$

$$K(x, \xi) = \begin{cases} \cos x \sin \xi, & 0 \leq x \leq \xi \\ \cos \xi \sin x, & \xi \leq x \leq \pi \end{cases}$$

Solution. Given homogeneous integral equation is

$$\phi(x) = \lambda \int_0^{\pi} K(x, \xi) \phi(\xi) d\xi \quad \text{--- (1)}$$

$$K(x, \xi) = \begin{cases} \cos x \sin \xi, & 0 \leq x \leq \xi \\ \cos \xi \sin x, & \xi \leq x \leq \pi \end{cases}$$

$$\text{Eqn (1)} \Rightarrow \phi(x) = \lambda \int_0^x K(x, \xi) \phi(\xi) d\xi + \lambda \int_x^{\pi} K(x, \xi) \phi(\xi) d\xi$$

$$\phi(x) = \lambda \int_0^x \cos \xi \sin x \phi(\xi) d\xi + \lambda \int_x^{\pi} \cos x \sin \xi \phi(\xi) d\xi \quad \text{--- (2)}$$

Differentiating with respect to x , we have

$$\phi'(x) = \lambda \int_0^x \frac{\partial}{\partial x} \{ \cos \xi \sin x \phi(\xi) \} d\xi + \lambda \int_x^{\pi} \frac{\partial}{\partial x} \{ \cos x \sin \xi \phi(\xi) \} d\xi$$

$$= \lambda \int_0^x \cos \xi \cos x \phi(\xi) d\xi + \left\{ \cos \xi \sin x \phi(\xi) \right\}_{\xi=x} \cdot \frac{d}{dx} x - 0$$

$$+ \lambda \int_x^{\pi} -\sin x \sin \xi \phi(\xi) d\xi - \left\{ \cos x \sin \xi \phi(\xi) \right\}_{\xi=x} \frac{d}{dx} x + 0$$

$$\phi'(x) = \lambda \int_0^x \cos \xi \cos x \phi(\xi) d\xi - \lambda \int_x^{\pi} \sin x \sin \xi \phi(\xi) d\xi \quad \text{--- (3)}$$

Again, differentiating, we have

$$\phi''(x) = \lambda \left[\int_0^x \frac{\partial}{\partial x} \{ \cos \xi \cos x \phi(\xi) \} d\xi + \cos^2 x \phi(x) - 0 \right. \\ \left. - \left[\lambda \int_x^{\pi} \frac{\partial}{\partial x} \{ -\sin x \sin \xi \phi(\xi) \} d\xi + 0 - \sin^2 x \phi(x) \right] \right]$$

$$\phi''(x) = -\lambda \int_0^x \sin x \cdot \cos \xi \phi(\xi) d\xi - \lambda \int_x^\pi \cos x \sin \xi \phi(\xi) d\xi + \phi(x) \quad (10)$$

$$\phi''(x) = -\lambda \phi(x) + \phi(x) \quad , \text{ from (2)}$$

$$\Rightarrow \phi''(x) - (\lambda - 1)\phi(x) = 0 \quad \text{--- (4)}$$

with the boundary condition

$$\left. \begin{aligned} \phi(\pi) &= 0 \\ \phi'(0) &= 0 \end{aligned} \right\} \quad \text{--- (5)}$$

Case I when $(\lambda - 1) = 0$, eqn (4) $\Rightarrow$

$$\phi''(x) = 0 \Rightarrow \phi(x) = Ax + B$$

$$\phi(\pi) = 0 \Rightarrow 0 = A\pi + B$$

$$\phi'(x) = A$$

$$\phi'(0) = 0 \Rightarrow A = 0$$

$$\Rightarrow B = 0 \quad \left[\begin{aligned} \because 0 &= A\pi + B \\ 0 &= 0 \cdot \pi + B \end{aligned} \right]$$

$$\text{ii } \phi(x) = 0 \cdot x + 0$$

$\Rightarrow \phi(x) = 0$, which is not an eigen function.

Case II if $(\lambda - 1) > 0$ let $\lambda - 1 = \mu^2 \Rightarrow \lambda = 1 + \mu^2$
eqn (4) $\Rightarrow$

$$\phi''(x) - \mu^2 \phi(x) = 0$$

$$A.E. \text{ is } m^2 - \mu^2 = 0 \Rightarrow m = \pm \mu, \mu \neq 0$$

$$\text{ii } \phi(x) = A e^{-\mu x} + B e^{\mu x}$$

$$\phi(\pi) = 0 \Rightarrow 0 = A e^{-\mu \pi} + B e^{\mu \pi}$$

$$\phi'(x) = -\mu A e^{-\mu x} + \mu B e^{\mu x}$$

$$\phi'(0) = 0 \Rightarrow 0 = -\mu A + \mu B \Rightarrow A = B$$

$$\text{ii } 0 = A e^{-\mu \pi} + A e^{\mu \pi} \quad \left[\because B = A \right]$$

$$\Rightarrow A = 0 \text{ as } e^{-\mu \pi} + e^{\mu \pi} \neq 0 \Rightarrow B = 0$$

CH-05, Pdf-21/03 (11) H-3051, Dr. Satish Kumar

i) $\phi(x) = 0 e^{-\mu x} + 0 e^{\mu x}$

$\Rightarrow \phi(x) = 0$, which is not an eigen function.

Case III when $\lambda - 1 < 0$ Let $\lambda - 1 = -\mu^2$, $\mu > 0$
 $\Rightarrow \mu^2 = 1 - \lambda \Rightarrow \mu = \sqrt{1 - \lambda}$

ii) Eqn (4) $\Rightarrow$

$$\phi''(x) + \mu^2 \phi(x) = 0$$

A.E is $m^2 + \mu^2 = 0 \Rightarrow m = \pm i\mu$

ii) $\phi(x) = A \cos \mu x + B \sin \mu x$, $\lambda = 1 - \mu^2$

$$\phi(\pi) = 0 \Rightarrow 0 = A \cos \mu \pi + B \sin \mu \pi \quad (6)$$

$$\phi'(x) = -A \sin \mu x \cdot \mu + B \mu \cos \mu x$$

$$\phi'(0) = 0 \Rightarrow$$

$$0 = B \mu \quad (7)$$

$D(\lambda)$ for (6) & (7) is

$$D(\lambda) = \begin{vmatrix} \cos \mu \pi & \sin \mu \pi \\ 0 & \mu \end{vmatrix} = \mu \cos \mu \pi$$

To find eigen values, put $D(\lambda) = 0$

$$\Rightarrow \mu \cos \mu \pi = 0$$

$$\Rightarrow \cos \mu \pi = 0 = \cos \text{ odd} \cdot \frac{\pi}{2}$$

$$\Rightarrow \mu \pi = (2n+1) \cdot \frac{\pi}{2} \Rightarrow \mu = n + \frac{1}{2}$$

$$\Rightarrow \sqrt{1 - \lambda} = \left(n + \frac{1}{2}\right) \Rightarrow 1 - \lambda = \left(n + \frac{1}{2}\right)^2$$

$$\Rightarrow \lambda = 1 - \left(n + \frac{1}{2}\right)^2$$

ii) $d_n = \left[1 - \left(n + \frac{1}{2}\right)^2\right]$

Eqn (7) $\Rightarrow B \mu = 0 \Rightarrow B = 0$ as $\mu \neq 0$.

CH-05, Pdf 21/03 (12) Dr. Satish Kumar

i) Eqn $\Phi(x) = A \cos \mu x + B \sin \mu x$

$\Rightarrow \Phi(x) = A \cos \mu x$ [$\because B=0$]

Take $A=1$, $\mu = \sqrt{1-\lambda_n}$

$\Phi_n(x) = \cos \{ \sqrt{1-\lambda_n} \cdot x \}$

which is an eigen. fn corresponding to eigen

value $\lambda_n = \left[1 - \left(n + \frac{1}{2} \right)^2 \right]$.

(4) Using Hilbert Schmidt theorem, solve

$\Phi(x) = x + \lambda \int_0^1 K(x, \xi) \Phi(\xi) d\xi$ where

$K(x, \xi) = \begin{cases} x(\xi-1) & , 0 \leq x \leq \xi \\ \xi(x-1) & , \xi \leq x \leq 1 \end{cases}$

Solution. Given

$\Phi(x) = x + \lambda \int_0^1 K(x, \xi) \Phi(\xi) d\xi$ — (1)

$K(x, \xi) = \begin{cases} x(\xi-1) & , 0 \leq x \leq \xi \\ \xi(x-1) & , \xi \leq x \leq 1 \end{cases}$

Consider the homogeneous equation of (1), we have

$\Phi(x) = \lambda \int_0^1 K(x, \xi) \Phi(\xi) d\xi$

$= \lambda \int_0^x K(x, \xi) \Phi(\xi) d\xi + \lambda \int_x^1 K(x, \xi) \Phi(\xi) d\xi$

$\Phi(x) = \lambda \int_0^x \xi(x-1) \Phi(\xi) d\xi + \lambda \int_x^1 x(\xi-1) \Phi(\xi) d\xi$ — (2)

Differentiating with respect to x , we have.

$$\phi'(x) = \lambda \int_0^x \frac{\partial}{\partial x} \left\{ \xi(x-1) \phi(\xi) \right\} d\xi$$

$$+ \lambda \int_x^1 \frac{\partial}{\partial x} \left\{ x(\xi-1) \phi(\xi) \right\} d\xi$$

$$= \lambda \int_0^x \xi \phi(\xi) d\xi + \lambda \left\{ \xi(x-1) \phi(\xi) \right\}_{\xi=x} \frac{dx}{dx} - 0$$

$$+ \lambda \int_x^1 (\xi-1) \phi(\xi) d\xi + 0 - \lambda \left\{ x(\xi-1) \phi(\xi) \right\}_{\xi=x} \frac{dx}{dx}$$

$$\phi'(x) = \lambda \int_0^x \xi \phi(\xi) d\xi + \cancel{\lambda x(x-1) \phi(x)} + \lambda \int_x^1 (\xi-1) \phi(\xi) d\xi - \cancel{\lambda x(x-1) \phi(x)}$$

$$\phi'(x) = \lambda \int_0^x \xi \phi(\xi) d\xi + \lambda \int_x^1 (\xi-1) \phi(\xi) d\xi$$

Again, differentiating we have

$$\phi''(x) = \lambda \int_0^x \frac{\partial}{\partial x} \left\{ \xi \phi(\xi) \right\} d\xi + \lambda \int_x^1 \frac{\partial}{\partial x} \left\{ (\xi-1) \phi(\xi) \right\} d\xi$$

$$= 0 + \lambda x \phi(x) - 0 + \lambda \cdot 0 + 0 - \lambda (x-1) \phi(x)$$

$$\phi''(x) = \lambda x \phi(x) - \lambda x \phi(x) + \lambda \phi(x)$$

$$\phi''(x) - \lambda \phi(x) = 0$$

with the boundary conditions

$$\phi(0) = 0 \text{ and } \phi(1) = 0$$

Case I $\lambda = 0$, Eqn (3) $\Rightarrow$

$$\phi''(x) = 0 \Rightarrow \phi(x) = Ax + B$$

$$\phi(0) = 0 \Rightarrow 0 = A \cdot 0 + B \Rightarrow B = 0$$

$$\phi(1) = 0 \Rightarrow 0 = A \cdot 1 \Rightarrow A = 0$$

ii $\phi(x) = 0 \cdot x + 0 = 0$, which is not an eigen function.

CH-05, Pdf - 21/03, (10) H-3051, Dr. Satish Kumar

Case II $\lambda = +\mu^2$, $\mu > 0$ Then eqn (3) $\Rightarrow$

$$\phi''(x) - \mu^2 \phi(x) = 0$$

A.E is $m^2 - \mu^2 = 0 \Rightarrow m = \pm \mu$

$$\phi(x) = A e^{-\mu x} + B e^{\mu x}$$

$$\phi(0) = 0 \Rightarrow 0 = A + B \Rightarrow B = -A$$

$$\phi(1) = 0 \Rightarrow 0 = A e^{-\mu} + B e^{\mu}$$

$$\Rightarrow 0 = A e^{-\mu} - A e^{\mu} \quad [\because B = -A]$$

$$\Rightarrow 0 = A [e^{-\mu} - e^{\mu}]$$

$$\Rightarrow A = 0 \text{ as } (e^{-\mu} - e^{\mu}) \neq 0$$

$$\Rightarrow B = 0 \quad [\because B = -A]$$

i. $\phi(x) = 0 \cdot e^{\mu x} + 0 \cdot e^{-\mu x}$
 $\phi(x) = 0$, which is not an eigen function.

Case III $\lambda = -\mu^2$, $\mu > 0$ Then eqn (3) $\Rightarrow$

$$\phi''(x) + \mu^2 \phi(x) = 0$$

A.E is $m^2 + \mu^2 = 0 \Rightarrow m = \pm i\mu$

$$\phi(x) = A \cos \mu x + B \sin \mu x \quad \text{where } -\mu^2 = \lambda$$

$$\phi(0) = 0 \Rightarrow 0 = A$$

$$\phi(1) = 0 \Rightarrow 0 = 0 + B \sin \mu$$

if $B \neq 0$ then $\sin \mu = 0 = \sin n\pi$
 $\Rightarrow \mu = n\pi$

i. $\phi(x) = B \sin n\pi x$

if $B = 1$ then

$$\phi_n(x) = \sin n\pi x, \quad \|\phi_n(x)\| = \sqrt{\int_0^1 \sin^2 n\pi x \, dx}$$

$$\therefore \bar{\phi}(x) = \frac{\phi_n(x)}{\|\phi_n(x)\|} = \frac{\sin n\pi x}{\sqrt{\int_0^1 \frac{1 - \cos 2n\pi x}{2} \, dx}} = \sqrt{\frac{1}{2}}$$

CH-05, Pdf-21/03 (15) H-3051, Dr. Sushil Kumar

$$\begin{aligned}
 F_n &= \int_0^1 f(x) \bar{\phi}_n(x) dx \\
 &= \int_0^1 x \cdot \sqrt{2} \sin n\pi x dx \\
 &= \sqrt{2} \left[-x \frac{\cos n\pi x}{n\pi} \right]_0^1 + \int_0^1 1 \cdot \frac{\cos n\pi x}{n\pi} dx \\
 &= \sqrt{2} \left[-\frac{\cos n\pi}{n\pi} + \frac{1}{n\pi} \left(\sin n\pi x \right)_0^1 \right]
 \end{aligned}$$

$$F_n = -\frac{\sqrt{2}}{n\pi} (-1)^n$$

ii Required solution is given by

$$\phi(x) = f(x) + \lambda \sum_{n=1}^{\infty} \frac{1}{\lambda_n - \lambda} F_n \bar{\phi}_n(x)$$

$$= x + \frac{\lambda}{-n^2\pi^2 - \lambda} \cdot \sqrt{2} (-1)^{n+1} \frac{\sin n\pi x}{n\pi} \cdot \sqrt{2}$$

$$\phi(x) = x + \frac{2\lambda}{\pi} \sum \frac{(-1)^n \sin n\pi x}{n(n^2\pi^2 + \lambda)}$$

where $\lambda_n = -n^2\pi^2$, $n=1, 2, 3, \dots$

Q5. Using Hilbert Schmidt theorem solve

$$f(x) = \int_0^1 K(x, \xi) \phi(\xi) d\xi$$

$$\text{where } K(x, \xi) = \begin{cases} x(1-\xi), & x < \xi \\ \xi(1-x), & x > \xi \end{cases}$$

$$\text{Take } f(x) = \lambda \int_0^x K(x, \xi) \phi(\xi) d\xi + \lambda \int_x^1 K(x, \xi) \phi(\xi) d\xi$$

$$f(x) = \lambda \int_0^1 \xi(1-x) \phi(\xi) d\xi + \lambda \int_x^1 x(1-\xi) \phi(\xi) d\xi$$

do as Q. No. 4. Here $\lambda=1$, $\lambda_n=?$